202443 =760 709—2

AR 21H AN T 4—NR 2 PRI O ~ 151
MAEE
£ \II M V4
No b F—L4 2=7%—Ah | VS | 2=74+—A F—L% #H i
1 9:45 ~ 10:40| F185HE60 oo | ~ | Mfeftet U H 160 =EEK
2| 11:00 ~ 11:555] {60 Flef -1 ik o ik e =HE K PUH i60
F1§3#60
1225 ~ 1320 P60 FleEl | ~ | #eft-Ht PUH Hi60 F1§3)60
13:40 ~ 14:35| F1£5)860 Bt m | ~ | Gkedkent =HEhA P60
6 H2H ZHERWCAR=Y DYy =275 R LTI O ~ 131
AR
N £ \!I A V4
0 IR Py P R — Py FH| %
1| 10:00 ~ 10:55 PUHTT60 Rtebemtt | ~ | dkedkedk —HEEK P60
PUH 60
2| 11:15 ~ 12101 60 Herlel | ~ | #&-&-H F1§3)#60 PUH i 60
THTHAAN T 4—AR 25 P RINER OlHF ~ 151
MAeE
N £ =) /I ©N2z
° R F—L4 A=T4—L | VS | 2=T4—A F—L4 e S
1| 945 ~ 1040 FIgHME60 | -1 | ~ | E-fif-f1 | PUHTHG0 160
2| 11:00 ~ 11:55) {460 e i« i fkedkedk | —HK | FlEmE60
PHE60
12:25 ~ 13:220| F185)860 el | ~ | ®efkeR =HE K PUH 60
13:40 ~ 14:35| 860 dediedk | ~ | Aefiten YU H Hi60 ==K
TLHIOH AA N T 4—NR PRI O ~ 171
AR
£ \!I A V4
] F—L244 a=7x%—Ah | V8§ | 2=7+—A F—L4h #H S
1| 10:00 ~ 10555 paETT60 MEekteftt | ~ | Hkedokeit =HE K P60
2| 11:15 ~ 12:10] F1&)5E60 Hedien | ~ | Aoaen PHE60 ==K
=HEEK
1250 ~ 13:45| PUHTH60 fteftdt | ~ | A-A-A PHE60 F1§ 60
14:05 ~ 15:00] F185)60 el | ~ | #efeoR =HE K PUH 60
11717 H =Z=EZMCAR—=Y DBy =817 5 R YL PRINER OF ~ 171
HERE
N £ =52 /I AY V4
0 ] F— A% A== | VS | 2=T74—A F—L% i il
1| 10:00 ~ 10555 F183)8E60 Hedel | ~ | Aa-fem P60 P H 1760
2| 11:15 ~ 12101 p4HTTI60 Flefifera | ~ | fkedked =HEhk PHE60
F1§5#60
1240 ~ 13:35| {60 FleEIeE | ~ | dkedkeh =HEhk F1# 60
13:55 ~ 14:50] PUHTH60 Flefitert | ~ | #&-#H-H F1§5/#60 —HhtK




NH17TH ZELZBMCAR=Y DYy h—827 5 R PRI O ~ 1T
N IREfE i Sai H e F
° o F—L% a2=7x3—Ah | V8§ | 2=75—4A F—L%
1| 1000 ~ 1050 pupi7o FleleE | ~ | fit@-fitf#t @ =~—F PHET0
2| 11:330 ~ 11:201 puETET70 FleFlerl | ~ | deediedi P70 i~v—F PUH 70
31 1200 ~ 1250 HHET0 dediedt | ~ | HEefteHt . a~e—F PUHTTO
12H1H = HERZWMCAR—Y DYy h—85E275 R LI PRI OFf ~ 17
AR
N £ =52 rl AY V4
0 ] F—I% a=x—Ah | VS| 2=274+—A F— LI L aad
1] 10:00 ~ 10:50] PUHTHTO FeBH | ~ | #edieki HHET70 i ~—F
2| 11:05 ~ 12:00] F1&)#E60 Hedern | ~ | Aeaen P60 =EEK
3| 1215 ~ 13:05| puEHi70 Felel | ~ | ittt —a~—F P70 PHET70
4] 1320 ~ 14:15| P4EHTE60 Flefifers | ~ | fkedkeht =HEEK F1§ 60
5 14:30 ~ 1520 PHE70 Fediedt | ~ | fA-Hf T a~—F PUHTHT70
12H15H = ERZMGCAR—=Y DYy H—8H175 R 2 PRI OfHf ~ 17
N BRI e H W&
° i F— A% a2=Ix—A | VS| 2=75x—A F—L%
1| 10:00 ~ 10:555| P4ETH60 Mfefedtt | ~ | B-\en P60 F1§ 60
2 11:15 ~ 1210 F18560 Tl | ~ | BkeskeBk =K P60
PU H 11i60
1240 ~ 1335 {60 Flefdell | ~ | Bk-%bk —HEhk PYH 60
13:55 ~ 14:50] PUHTTH60 Mreftest | ~ | #HH-N F1§3#60 ==K
12H15H Z=ER HEGCAR—=Y DMy h—58520 5 R PRI Ol ~ 171
B i) FH| P
i F—2F | az7a—b | VS| 2zga—n | F—24
1| 1000 ~ 10550 P70 Kok | ~ | A-a-m PUH 70 Tw—F
2| 11:30 ~ 11:20] 70 deedieds | ~ | MtE-HH T Ta~—F PUH 70 PAH 70
31 1200 ~ 1250 P4ETTO FleleE | ~ | fitEA-ft# | zar~—F PHET0




